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Chapter 3 Free Response Practice Test

I

1. In the figure, 45 || CD. Find x and y.

Show your work or give your reasoning.
(4 points possible, 2 points for x & y values, 2 points for reasoning in finding the values)
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4 points possible V= ay. ’Z,'DTS.V:‘__
: . =R E B \n\
~ 1) Write the formula for finding the volume of a cone (Y
W N - -
<& 2) Find the area of the base of the cone. B=4c? \O\"( 28 50—""‘ \
N = _d

QQJJ 3) Put the base area and height of the cone into the volume formula, solve for volume. Remember that anything that
% comes to a point contains the step "divide by 3" at the end. No units given so you do not have to give units. :)

= ax (%) o)

V= 30T emd

4) Volume = ]C\LL 2-5(.""" )
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points possible

1) Write the formula for finding the volume of a prism \] A \RAse ° 2

u cloved red)
2) Find the area of the base of the prism: note that it is a triangle, prism is laying on it's side.

Aﬁase = 2.([-0)(8) ‘le'un--hs ‘;:,h

3) Put the base area and height of the prism into the volume formula, solve for volume. No units given so you do not

have to give units. :) \( = B:-h
V= (3 (1 5)
\\/ 31 ';_ 6] nn‘{’S

4) Volume =

In 2008, the circulation of a local newspaper was 1,460 papers. In 2010, the circulation was 2,110 papers.

4. Find the rate of change in the circulation over the given time period in paper circulated per year. Then write an
equation in point slope form and use it to predict the circulation for 2014. (4 points possible, 1 pt each for a, b, ¢
and 1 pt for writing unils)

a) Rate of Change calculation and answer with units \ ot
L0 — |, 460 LS50 \ §
—~ rote of chy -4 - = e 3 v O_|r(_,ulOL+tC,[ e eay
by T 3 5610 - 2008 a 1 aS’l‘*f_‘e:i o lﬂ {
b) Equation 1n$p01nt slope fonnl to model growth in c1rcu]at1 on
ot (goo? \qcpo) (- t\n = ™ (

\‘j 1%;0 = 325(X aoo?) \\
- : = 1 > A
¢) Prediction of circulation fo I a}‘i,

e M
lf = }»; - ?L(!l U.‘.\://Ff,.- ‘,;l\'.
X \ \
Y- ), #eQ = 355 ((;LOH - aoo@
dl 4O = 325 (6)

*l = |950
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Find the distance between the pair of parallel lines. (6 points possible, one for each step)
S.linea:y=3x+2
lineb:y=3x—4 (6 point possible, 1 pt per answer)

a) slope of parallel lines: 3

—

" E
3

b) Slope of line perpendicular to given lines:

c) y-intercept of line a ( 0, 3)

d) equation of line perpendicular to /ine a inlslope intercept!|form U =
e ———ia U
. 5.5 ¥, = ! ¥
g-a= % (-9 gt
A

\ -
L:} ;Egi_iﬂ%j | 2 y= 3%
e) Solve sys -er%f?gms to find a Jgg__i}%{/th_yp)we b on perpendicular line

3 (—413:1 :3): (31"'4!53 Jr%?,’ loil@

+ 6 = 9y -I2 1% = G
@ + % [T - ”'El
o = 10x -1z L‘g’:xwé 5 %—: i) il
f) Use points of intersection for /ine a and the perpendicular line & line b and the perpendicular line to find the , g 1

shortest distance between the two parallel lines
CS
d=A(F-2)" +(¥-9)

d =4 + (3P

d 2 B 5 Sk
= 25 25 R

4. 1= = I #|Lo|

\

distance =

¥ Note: You may vse decimals i+ tjou
T would  like 4o on the bt Monday &
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6. In the figure, 2 || ¢. Find m.21. ( 4 points possible, 1 per relevant angle measure
found)
Hint: Draw another parallel line through angle S and extend transversals as needed. Then use what you
know about parallel lines, transversals, vertical lines, and triangle angle measures to determine the measure

of angle 1. -
gince CO ”&SPOV\J:\%’
Oum%be,s e =

- By X S= Ik

" - ‘j‘}‘: |

a2 :XO l;r\l ewrespomclins CU/\_S('&_S

o Ymerzur]
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